

1

:

y x - Lxy

:

$$(x)(Lxx \rightarrow (\exists y)Lxy)$$

$$(x)((\exists y)Lxy \rightarrow Lxx)$$

$$(x)(\sim Lxx \rightarrow (y)\sim Lxy)$$

$$(x)(\sim (\exists y)Lxy \rightarrow \sim Lxx)$$

$$(x)((y)\sim Lxy \rightarrow \sim Lxx)$$

$$(x)(y)(Lxy \rightarrow Lyx)$$

$$(x)((\exists y)Lxy \rightarrow (\exists z)Lzx)$$

2

:

z y x - Bxyz ; x - Sx ; x - Px

:

$$(\exists x)(Sx \cdot (y)(Py \rightarrow (\exists z)Byzx))$$

$$\sim (\exists x)(Px \cdot (y)(Sy \rightarrow (\exists z)Bxzy))$$

$$(x)(Px \rightarrow (\exists y)(Sy \cdot (z)(\sim Bxzy)))$$

3

: " " "
y $x - Txy$; $x - Sx$; $x - Mx$; $x - Dx$

$$(x)((Mx \cdot Dx) \rightarrow \sim (\exists y)(Sy \cdot Txy))$$
$$(x)((Mx \cdot Dx) \rightarrow (y)(\sim Sy \vee \sim Txy))$$

4

: " , " "
y $x - Cxy$; $x - Ox$; $x - Sx$; $x - Px$

$$(x)((Px \cdot (\exists y)(Sy \cdot Cxy)) \rightarrow Ox)$$